f&iﬁ%ﬂﬁ FE TR IEH

A48 == |57
20134 $91E MELESvh——F % SHRES BE HE
15 5 5 &
H B 2013/10/20(H) 14:00 kick off AR 9045 =54 FUFIAIREADT L
x & 53] EvFikes 2 | 2ERZ K& B | #A&A CE # 242 A
HAMEREE mH B2z E = i oF Ekd-| HbhAH#H HPEKX
x = BE FB EIE B %8 BlE2 *E B2 FADEY PE &
KICK OFF 0 e 1
KRAEFKZE 0 - 1 KIRERREKE
B2 R EfE o &% 0 ERER 5=
xR a—b B E T 2 E || & 2 = B va—t TR
No.| % |90|75/60/45]30|15/5+ = = 5 EB|IB|5 = = 5t/15/30[45/60/75/90] % | No.
Mt B 1 |GK |[GK | 21 A RKE
N 11 RO = 19 |DF ||DF 22 WFHK K3} 211
N Ak i 5 |DF ||DF| 59 NG BE 1 1
~ B #a 4 DF ||DF 4 BE ER 11 1
N 1 1 e $FX 2 DF||DF 6 AR =N -
#E i 23 MF[IMF 20  "T& K#
11 2 IWH &X 8 MF [|MF 7 2R3 EX 83
64 1 1]2 & FH 11 MF |[MF | 29 %5 BX 2 1 1 U
HT ZH EHE 18 MF |[MF 44 Al Kb 2 1 1
1 2,3 2r = 10 FW|[Fw 48  #HE #=& 73
1 1 FE HE 9 FW|lEw 84 HE BHE 2 101 73
FiR = 21 |GK |[GK | 1 Bl =R
WA Xih 12 DF ||DF 43 Mot #4 7
26 WA 1BE 3 DF||MF| 9 HH ERE
EE N 7 | MF [|MF 133 e FA
A EX 17 MF||[MF 13 A FiE
18 1 1 P i g 29 |MF ||FW 64 B Rt 2 2 48
1188 |1 1 Xig E18 26 |FW ||[FW_ 87 Bn #BE 2 11 84
2 &R 15 st | weap A= weap | gy s = £.E &
BE  Ed % F e e FoLaH A B mm mm ® F &
62 C1 29 HwE X 5 7 12 a—pk 16 8 8 8 | C2 59 IZNR BE
90+3 Gl | 8 WA &3X 3 5 8 G K 10 5 5 55 | Cl | 7 2A EXx
| 6 4 10 C K 6 3 3 87 | Cl | 64 B Rh
19 12 | 31 BEEFK | 23 11 12 |
L R 2 RfEFK 3 |2 1]
1 1 2 #7944 3 2 1
0 0 0 P K 0 0 0

CENZATYA FEOKFZ. BEI)-Fv0BDI54TH M FICLBEDERT .
[(Z&EH] C1: RAR—YMITA, C2: 57711, C3: R, C4: #ENRLMER. C5:EILTA. C6: IR E . CT: |{EFAI A, C8: EHFAI X
GRIZEM] S1:EFKFEGTLA, S2: ELRBITAH. S3:DIEHE, S4: G REKMELE (F), S5: FRHMMIE (). S6: RE. CS: E&H2H

B | F—L4 | R37 BaE TR HFRiER

34 | KfgX = 0-1 4 | 5@ %3 59 JE EE 29 HEE Bk [CK29TPIYFHS59H T I-LETHE4S

(~:FUFN —TUSVFISA 1:BEESA S:va—b HATAYY x:RBE)
KEFFREOMHTIEN=784 LERLET , [+ IRFE>ARIM LPORFBH HETLET
(%]




